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BIHAR BOARD QUESTION PAPER  
हिन्दी माध्यम / ENGLISH MEDIUM  

INTERMEDIATE EXAMINATION - 2021 
इंटरमीडिएट परीक्षा - 2021 

(ANNUAL / वार्षिक)  

ACCOUNTANCY 
समय: 3 घॊटे 15 ममनट]         [परू्णांक 100 

परीऺणर्थियों के मऱए ननरे्दश : 

1. परीऺणथी OMR उत्तर पत्रक पर अपनण प्रश्न पसु्तिकण क्रमणॊक (10 अॊकों कण) अवश्य 
मऱखें। 

2. परीऺणथी यथणसॊभव अपने शब्र्दों में ही उत्तर र्दें। 

3. र्दणहहनी ओर हणमशये पर हर्दये हुए अॊक परू्िक ननहर्दिष्ट करिे हैं। 

4. प्रश्नों को ध्यणनपवूिक पढ़ने के मऱए परीऺणर्थियों को 15 ममनट कण अनिररक्ि समय 
हर्दयण गयण है। 

5. यह प्रश्न पसु्तिकण र्दो खण्डों में है-खण्ड 'अ' एवॊ खण्ड-'ब' 

6. खण्ड 'अ' में 100 वतिुननष्ठ प्रश्न हैं, स्जनमें से ककनहीॊ 50 प्रश्नों कण उत्तर रे्दनण 
अननवणयि है। पचणस से अर्िक प्रश्नों से अर्िक कण उत्तर रे्दने पर प्रथम 50 उत्तरों कण ही 
मलूयणॊकन ककयण जणएगण। प्रत्येक के मऱए 1 अॊक ननिणिररि है। सही उत्तर उपऱब्ि करणये 
गए OMR उत्तर- पत्रक में हर्दये गये सही ववत्त को नीऱे / कणऱे बॉऱ पेन से प्रगणढ़ करें। 
ककसी भी प्रकणर के हणइटनर / िरऱ पर्दणथि / ब्ऱेड / नणखून आहर्द कण OMR उत्तर पत्रक 
में प्रयोग करनण मनण है, अनयथण परीऺण पररर्णम अमणनय होगण। 

7. खण्ड-ब में 30 ऱघ ुउत्तरीय प्रश्न हैं। प्रत्येक के मऱए 2 अॊक ननिणिररि है, स्जनमें से 
ककनहीॊ 15 प्रश्नों कण उत्तर रे्दनण अननवणयि है। इनके अनिररक्ि इस खण्ड में 8 र्दीघि 
उत्तरीय प्रश्न हर्दये। गये हैं, प्रत्येक के मऱए 5 अॊक ननिणिररि है, स्जनमें से ककनहीॊ 4 
प्रश्नों कण उत्तर रे्दनण है। 

8. ककसी प्रकणर के इऱेक्रॉननक उपकरर् कण प्रयोग परू्िियण वस्जिि है। 
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SECTION-A 

प्रश्न सॊख्यण 1 से 100 िक के प्रत्येक प्रश्न के सणथ चणर ववकलप हर्दये गए हैं, स्जनमें से 
एक सही है ककनहीॊ 50 प्रश्नों के उत्तर र्दें। अपने द्वणरण चनेु गए सही ववकलप को OMR 
शीट पर र्चस्ननि करें। 

1. गैर-व्यणपणररक सॊगठनों कण आजीवन सर्दतयिण शलुक है। 

(a) पूॉजीगि प्रणस्ति  

(b) आयगि प्रणस्ति 

(c) (a) और (b) र्दोनों 

(d) इनमें से कोई नहीॊ है 

 

2. एक गैर-व्यणपणररक सॊतथण के मऱए मणनरे्दय होिण 

(a) आय 

(b) पररसम्पवत्त 

(c) व्यय 
(d) इनमें से कोई नहीॊ 

 

3. यहर्द तपष्टियण कुछ न हर्दयण हो, िो प्रवेश शलुक को मणनण जणिण है 

(a) पूॉजीगि प्रणस्ति 

(b) आयगि प्रणस्ति 

(c) रे्दयिण 

(d) इनमें से कोई नहीॊ 

 

4. व्यय पर आय की अर्िकिण को कहण जणिण है 

(a) अर्िशषे 

(b) कमी 
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(c) (a) और (b) र्दोनों 

(d) इनमें से कोई नहीॊ 

 

5. जब सणझरे्दणर को उसकी पूॉजी पर ब्यणज कण अर्िकणर होिण है िो उसे ननम्नमऱखखि में 
से ककस पर ब्यणज हर्दयण जणयेगण ? 

(a) ऱणभ में से 

(b) पूॉजी में से 

(c) (a) और (b) र्दोनों 

(d) इनमें से कोई नहीॊ 

 

6. सणझरे्दणरी सॊऱेख के अभणव में सणझरे्दणरों को 

(a) वेिन हर्दयण जणयेगण 

(b) वेिन नहीॊ हर्दयण जणयेगण 

(c) वेिन फमि में कणम करने वणऱे सणझरे्दणर को हर्दयण जणयेगण 
(d) इनमें से कोई नहीॊ 

 

7. एक सणझरे्दणरी फमि के ऱणभ-हणनन समणयोजन खणिे में ननम्न में से कौन-सी मर्द मऱखी 
जणिी है ? 

(a) पूॉजी पर ब्यणज 

(b) सणझरे्दणर कण वेिन 

(c) सॊचय में हतिणनिरर् 

(d) इनमें से सभी 

 

8. सणझरे्दणरी की पूॉजी तथणयी होने पर कौन से खणिे खोऱे जणिे हैं ? 

(a) केवऱ पूॉजी खणि े
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(b) केवऱ चणऱ ूखणि े

(c) पूॉजी खणिे िथण चणऱ ूखणिे र्दोनों 

(d) इनमें से कोई नहीॊ 

 

9. ऱणभ न कमणने के मऱए तथणवपि सॊतथणएॉ िैयणर करिी हैं 

(a) व्यणपणररक खणिण  

(b) व्यणपणररक एवॊ ऱणभ-हणनन खणिण 

(c) आय-व्यय खणिण 

(d) आयगि खणिण 

 

10. ननम्न में से कौन-सी मर्द प्रणस्ति एवॊ भगुिणन खणिे में जणयेगी ? 

(a) अर्दत्त वेिन 

(b) ह्रणस  

(c) आजीवन सर्दतयिण फीस 
(d) उपणस्जिि चनर्दण 

 

11. प्रणस्ति एवॊ भगुिणन खणिण है। 

(a) व्यस्क्िगि खणिण  

(b) वणतिववक खणिण 

(c) नणममणत्र खणिण 

(d) इनमें से कोई 

 

12. आय-व्यय खणिण है 

(a) व्यस्क्िगि खणिण 

(b) वणतिववक खणिण 
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(c) नणममणत्र खणिण 

(d) इनमें से कोई 

 

 

13. वसीयि को मणननण चणहहए 

(a) र्दणनयत्व 

(b) आयगि प्रणस्ति 

(c) पूॉजीगि प्रणस्ति 

(d) इनमें से कोई नहीॊ 

 

14. सणझरे्दणर कण फमि से सम्बनि होिण है 

(a) तवणमी कण 

(b) एजेनट कण 

(c) तवणमी एवॊ एजेनट कण 
(d) प्रबनिक कण 

 

15. सणझरे्दणरी तथणवपि करने के मऱए कम से कम ककिने व्यस्क्ि होने चणहहए ? 

(a) 2 

(b) 7 

(c) 10 

(d) 20 

 

16. फमि के मऱए आहरर् पर ब्यणज है। 

(a) व्यय 

(b) हणनन 
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(c) प्रणस्ति 

(d) आय 

 

17. सणझरे्दणरी अर्िननयम ककस वषि ऱणगू हुआ ? 

(a) 1932 में 

(b) 1956 में 

(c) 1947 में 

(d) 1952 में 

 

18. ख्यणनि है 

(a) कणलपननक सम्पवत्त 

(b) चणऱ ूसम्पवत्त  

(c) अमिूि सम्पवत्त 

(d) मिूि सम्पवत्त 
 

19. A िथण B3:1 के अनपुणि में ऱणभ बणॉटिे हैं। ये C को 1/4 भणग रे्दकर सणझरे्दणर 
बनणये। नयण अनपुणि होगण 

(a) 10:2:4 

(b) 8:4:4 

(c) 9:3:4 

(d) 8:9:10 

 

20. एक नए सणझरे्दणर के प्रवेश पर 

(a) परुणनी फमि कण ववघटन हो जणिण है। 

(b) परुणनी सणझरे्दणरी पनुगिहठि होगी 
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(c) परुणनी सणझरे्दणरी िथण फमि र्दोनों ववघटन हो जणिण है 

(d) न िो सणझरे्दणरी और न ही फमि कण समणपन होिण है 

 

21. िरऱ अनपुणि िरऱ सम्पवत्तयों को ककससे भणग रे्दकर ऻणि ककयण जणिण है ? 

(a) तथणयी र्दणनयत्व 

(b) चणऱ ूर्दणनयत्व 

(c) कुऱ र्दणनयत्व 

(d) सॊहर्दग्ि र्दणनयत्व 

 

22. कणयिशीऱ पूॉजी है 

(a) रोकड़ िथण बैंक शषे 

(b) बैंकों से उिणर ऱी हुई पूॊजी 

(c) चणऱ ूसम्पवत्तयों व चणऱ ूर्दणनयत्वों में अॊिर 

(d) चणऱ ूसम्पवत्तयों व तथणयी सम्पवत्तयों में अॊिर 
 

23. पेटेन्स व कॉपीरणईट ककस शे्रर्ी के अनिगिि आिे है ? 

(a) चणऱ ूसम्पवत्तयों 

(b) िरऱ सम्पवत्तयों 

(c) अमिूि सम्पवत्तयों 

(d) इनमें से कोई नहीॊ 

 

24. ननम्न में से कौन-सी गैर-रोकड़ मर्द नहीॊ है? 

(a) नकर्द ववक्रय  

(b) ख्यणनि कण अपऱेखन 

(c) ह्रणस  
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(d) अप्रणतय ऋर्ों के मऱए आयोजन 

 

25. सॊचणऱन कक्रयणओॊ से रोकड़ प्रवणह ऻणि करिे समय ककसे घटणयण जणयेगण ? 

(a) पवूिर्दत्त व्ययों में कमी 

(b) ऱेनर्दणरों में वदृ्र्ि 

(c) रे्दनर्दणरों में वदृ्र्ि 

(d) रे्दनर्दणरों में कभी 

 

26. सॊचणऱन कक्रयणओॊ से रोकड़ प्रवणह ऻणि करिे समय ककसे जोड़ण जणएगण ? 

(a) तटॉक में वदृ्र्ि 

(b) ऱेनर्दणरों में वदृ्र्ि  

(c) रे्दय ववपत्रों में कमी 

(d) रे्दनर्दणरों में वदृ्र्ि 

 
27. ऋर्पत्रों कण रोकड़ में ननगिमन है 

(a) पररचणऱन कक्रयणयें 

(b) ववत्तीय कक्रयणयें 

(c) ववननयोजन कक्रयणयें 

(d) इनमें से कोई नहीॊ 

 

28. ववत्त सॊबॊिी कक्रयणओॊ से रोकड़ प्रवणह कण उर्दणहरर् है 

(a) मणऱ कण उिणर ववक्रय  

(b) अॊशों के ननगिमन से रोकड़ प्रणस्तियणॉ 

(c) ववननयोगों कण ववक्रय 

(d) ब्यणज प्रणति ककयण 
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29. िरऱ सम्पवत्त में शणममऱ होिण है। 

(a) केवऱ रोकड़ 

(b) केवऱ रोकड़ एवॊ रे्दनर्दणर 

(c) रोकड़, रे्दनर्दणर एवॊ ववपर्न योग्य प्रनिभनूियणॉ 

(d) इनमें से कोई नहीॊ 

 

30. ननम्नमऱखखि में कौन-सी िरऱ सम्पवत्त है ? 

(a) रे्दनर्दणर 

(b) रहनियण  

(c) ख्यणनि 

(d) मशीन 

 

31. नये सणझरे्दणर के द्वणरण ख्यणनि की रणमश नकर्द ऱणने को कहिे हैं  
(a) सम्पवत्त 

(b) ऱणभ 

(c) अर्िमलूय 

(d) इनमें से कोई नहीॊ 

 

32. पनुमूिलयणॊकन खणिण है 

(a) वणतिववक खणिण 

(b) व्यस्क्िगि खणिण 

(c) नणममणत्र खणिण 

(d) सम्पवत्त खणिण 
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33. तथणयी सम्पवत्तयों के मलूय में कमी कहऱणिी है 

(a) व्यय 

(b) हणनन 

(c) ऱणभ 

(d) इनमें से कोई नहीॊ 

 

34. सणझरे्दणर के प्रवेश के समय पनुमूिलयणॊकन पर ऱणभ-हणनन को वहन करिे हैं 

(a) परुणने सणझरे्दणर 

(b) नये सणझरे्दणर 

(c) सभी सणझरे्दणर 

(d) इनमें से सभी 

 

35. A िथण B सणझरे्दणर हैं। उनहोंने C को 1/3 भणग के मऱए सणझरे्दणरी में प्रवेश हर्दयण। 
भववष्य में A िथण B, 2:1 के अनपुणि में ऱणभ बणॉटेंगे। त्यणग अनपुणि होगण 
(a) 2:1 

(b) 1:1 

(c) 5:1 

(d) 1:5 

 

36. परुणने सणझरे्दणरों कण त्यणग बरणबर होिण है 

(a) नयण अनपुणि परुणनण अनपुणि 

(b) परुणनण अनपुणि नयण अनपुणि  

(c) उनके नए अनपुणि के 

(d) उनके परुणने अनपुणि के 
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37. ऱणभ प्रणस्ति अनपुणि से आशय है 

(a) परुणनण अनपुणि - नयण अनपुणि 

(b) नयण अनपुणि - परुणनण अनपुणि  

(c) परुणनण अनपुणि - त्यणग अनपुणि 

(d) नयण अनपुणि - अनपुणि त्यणग 

 

38. अवकणश ग्रहर् करने वणऱे सणझरे्दणर को ख्यणनि र्दी जणिी है 

(a) परुणने ऱणभ-ववभणजन अनपुणि में 

(b) पूॉजी के अनपुणि में 

(c) बरणबर अनपुणि में 

(d) नये अनपुणि में 

 

39. A, B िथण C सणझरे्दणर हैं जो 1

4 
:

3

10
∶

9

20 
 के अनपुणि में ऱणभ बणॉटिे हैं। C के 

अवकणश ग्रहर् पर नयण अनपुणि होगण 

(a) 6:5 

(b) 5:6 

(c) 4:3 

(d) 4: 10 

 

40. ऱणभ प्रणस्ति अनपुणि की गर्नण की जणिी है 

(a) प्रवेश के समय 

(b) अवकणश ग्रहर् करने पर 

(c) ववघटन के समय 

(d) इनमें से कोई नहीॊ 
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41. अर्ग्रम यणचनण की रणमश 

(a) अॊश पूॉजी में जोड़ी जणिी है 

(b) अॊश पूॉजी में से घटणई जणिी है। 

(c) सम्पनि पऺ में हर्दखणई जणिी है 

(d) पूॉजी एवॊ र्दणनयत्व पऺ में हर्दखणई जणिी है  
 

42. अॊशहरर् खणिे को र्च्ठी में र्दशणियण जणिण है। 

(a) गैर-चणऱ ूर्दणनयत्व के सणथ 

(b) चणऱ ूर्दणनयत्व के सणथ 

(c) सणमणनय सॊचय के सणथ 

(d) सॊर्चि पूॉची के सणथ 
 

43. ऋर्पत्र प्रर्दमशिि करिे हैं 

(a) कम्पनी के र्दीघिकणऱीन ऋर् 

(b) समिण अॊशिणररयों के ववननयोग 
(c) कम्पनी में सॊचणऱकों के अॊश 

(d) कम्पनी के अलपकणऱीन ऋर् 
 

44. शनूय कूपन बणनड ननगिममि ककये जणिे हैं 

(a) शनूय ब्यणज र्दर पर 

(b) पवूि ननिणिररि ब्यणज र्दर पर 

(c) बबनण पवूि ननिणिररि ब्यणज र्दर पर 

(d) इनमें से कोई नहीॊ 
 

45. तवयॊ के ऋर्पत्रों के रद्र्द होने से होने वणऱण ऱणभ है। 

(a) आयगि ऱणभ 
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(b) पूॉजीगि ऱणभ 

(c) सॊचणऱन ऱणभ 

(d) व्यणपणररक ऱणभ 

46. ववत्तीय वववरर्ों के ववश्ऱेषर् की उपयोर्गिण ककसके मऱए नहीॊ है ? 

(a) ववननयोगकिणि  

(b) सरकणर 

(c) भणरि कण रणजर्दिू 

(d) कम्पनी कण कमिचणरी 

 

47. एक कम्पनी की तथणयी सम्पवत्तयणॉ 3,00,000 रु० से बढ़कर 4,00,000 रू हो गई। 
इसमें ककिने प्रनिशि पररवििन हुआ ? 

(a) 25% 

(b) 33.3% 

(c) 20% 
(d) 40% 

 

48. आयकर कण भगुिणन मणनण जणिण है। 

(a) प्रत्यऺ व्यय 

(b) अप्रत्यऺ व्यय 

(c) सॊचणऱन व्यय 

(d) इनमें से कोई नहीॊ  

 

49. सणमणनय आकणर के स्तथनि वववरर् में कुऱ समिण एवॊ र्दणनयत्वों को ककसके बरणबर 
मणनण जणिण है ? 

(a) 1  
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(b) 10 

(c) 100 

(d) 1000 

 

50. यहर्द बेच ेगए मणऱ की ऱणगि 1,20,000 रु० िथण सकऱ ऱणभ अनपुणि 20 प्रनिश 
हो िो ववक्रय की रणमश होगी 

(a) 50,000 रु० 

(b) 1,50,000 रु० 

(c) 1,00,000 रु० 

(d) 2,00,000 रु० 

 

51. ऋर्पत्रिणरी होिे हैं 

(a) कम्पनी के तवणमी 

(b) कम्पनी के ग्रणहक 
(c) कम्पनी के ऱेनर्दणर 

(d) कम्पनी के प्रवििक 

 

52. ऋर्पत्रिणरी को ममऱिण है 

(a) ऱणभणॊश 

(b) ब्यणज 

(c) ऱणभणॊश व ब्यणज र्दोनों 

(d) ऱणभ 

 

53. ऋर्पत्र शोिन खणिण पर प्रीममयम है। 

(a) सम्पवत्त 
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(b) र्दणनयत्व 

(c) व्यय 

(d) आय 

 

54. ऋर्पत्र आवेर्दन पत्र खणिण की प्रकृनि होिी है  

(a) वणतिववक खणिण  

(b) व्यस्क्िगि खणिण 

(c) नणममणत्र खणिण 

(d) इनमें से कोई नहीॊ 

 

55. कम्पनी की वणवषिक ररपोटि जणरी की जणिी है 

(a) सॊचणऱकों को 

(b) ऱेखक को 

(c) अॊशिणररयों को 
(d) प्रबनि को 

 

56. स्तथनि वववरर् है 

(a) वववरर् 

(b) खणिण 

(c) (a) और (b) र्दोनों 

(d) इनमें से कोई नहीॊ 

 

57. ववत्तीय वववरर्ों के ननवणिचन में शणममऱ है 

(a) आऱोचनण एवॊ ववश्ऱेषर् 

(b) िुऱनण और प्रववृत्त अध्ययन  
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(c) ननष्कषि ननकणऱनण 

(d) इनमें से सभी 

 

58. ववक्रय में से ववक्रय ककये गये मणऱ की ऱणगि घटणकर ऻणि की गई रणमश होिी है 

(a) शदु्ि ऱणभ 

(b) सॊचणऱन ऱणभ 

(c) सकऱ ऱणभ 

(d) कुऱ ऱणभ 

 

59. सणमणनय आकणर के आय वववरर् में शदु्ि ववक्रय की रणमश को ककसके बरणबर मणनण 
जणिण है ? 

(a) 1  

(b) 10 

(c) 100 
(d) 1000 

 

60. िरऱ सम्पवत्तयों में सस्म्ममऱि नहीॊ होिण है 

(a) प्रणतय ववपत्र 

(b) रे्दनर्दणर 

(c) रहनियण 

(d) बैंक शषे 

 

61. सॊयकु्ि पूॉजी कम्पनी है 

(a) विैणननक कृबत्रम व्यस्क्ि 

(b) प्रणकृनिक व्यस्क्ि 
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(c) सणमणनय व्यस्क्ि 

(d) इनमें से कोई नहीॊ 

 

62. समिण अॊशिणरी होिे हैं 

(a) कम्पनी के ग्रणहक  

(b) कम्पनी के तवणमी 

(c) कम्पनी के ऱेनर्दणर 

(d) बैंकर 

 

63. एक कम्पनी में सर्दतयों कण र्दणनयत्व होिण है 

(a) सीममि 

(b) असीममि 

(c) स्तथर 

(d) पररवििनशीऱ 
 

64. एक ननजी कम्पनी में सर्दतयों की अर्िकिम सॊख्यण होिी है। 

(a) 7  

(b) 200 

(c) 50  

(d) कोई सीमण नहीॊ 

 

65. अॊशिणररयों को कम्पनी से ममऱिण है 

(a) ब्यणज 

(b) कमीशन 

(c) ऱणभ 



https://www.bsebstudy.com 

(d) ऱणभणॊश 

 

 

66. अॊश आवेर्दन-पत्र खणिण की प्रकृनि होिी है 

(a) वणतिववक खणिण 

(b) व्यस्क्िगि खणिण 

(c) नणममणत्र खणिण 

(d) इनमें से कोई नहीॊ 

 

67. अॊशों के ननगिमन पर प्रीममयम है 

(a) ऱणभ  

(b) आय 

(c) आयगि प्रणस्ति 

(d) पूॉजीगि ऱणभ 
 

68. अॊश पूॉजी की वणतिववक रणमश है 

(a) अर्िकृि पूॉजी 

(b) चकुिण पूॉजी 

(c) प्रणर्थिि पूॉजी 

(d) ननगिममि पूॉजी 

 

69. अॊशों के हरर् के पररर्णमतवरूप घट जणिी है 

(a) चकुिण पूॉजी 

(b) अर्िकृि पूॉजी 

(c) आरक्षऺि पूॉजी 
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(d) तथणयी पूॉजी 

 

 

 

70. ऋर्पत्र है 

(a) ऋर् कण प्रमणर् पत्र 

(b) नकर्द कण प्रमणर् पत्र 

(c) सणख कण प्रमणर् पत्र 

(d) पूॉजी कण प्रमणर् पत्र 

 

71. मिृक सणझरे्दणर को रे्दव रणमश चकुणयी जणिी है उसके 

(a) वपिण को 

(b) र्दोति को 

(c) पत्नी को 
(d) उत्तरणर्िकणररयों को  

 

72. पनुमूिलयणॊकन खणिण ककस समय िैयणर ककयण जणिण है ? 

(a) प्रवेश के समय 

(b) अवकणश ग्रहर् के समय 

(c) मतृ्य ुके समय 

(d) इनमें से सभी 

 

73. वसऱूी खणिण है 

(a) नणममणत्र कण खणिण 

(b) वणतिववक खणिण  
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(c) व्यस्क्िगि खणिण 

(d) इनमें से कोई नहीॊ 

 

74. फमि के समणपन पर होने वणऱे व्यय को कहिे हैं। 

(a) वसऱूी व्यय 

(b) कणननूी व्यव 

(c) पूॉजीगि व्यय 

(d) इनमें से कोई नहीॊ 

 

75. फमि के ववघटन के समय सणझरे्दणरों के पूॉजी खणिों की के्रडडट बणकी कण भगुिणन 
ककयण जणिण है 

(a) सणझरे्दणरों को 

(b) फमि को 

(c) पत्नी को 
(d) इनमें से कोई नहीॊ  

 

76. कणननूी व्ययों को वसऱूी खणिे के ककस पऺ में मऱखण जणिण है ? 

(a) र्दणनयत्व 

(b) डबेबट 

(c) सम्पवत्त 

(d) के्रडडट 

 

77. फमि के ववघटन के समय सम्पवत्तयों कण पतुिकीय मलूय वसऱूी खणिे के ककस पऺ 
में  मऱखण जणिण है ? 

(a) डबेबट पऺ 
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(b) के्रडडट पऺ 

(c) र्दणनयत्व पऺ 

(d) सम्पवत्त पऺ 

 

78. सणझरे्दणर कण हर्दवणमऱयण होनण ककस प्रकणर के समणपन कण प्रकणर है ?  

(a) अननवणयि समणपन 

(b) सॊयोग द्वणरण समणपन 

(c) नयणयणऱय द्वणरण समणपन 

(d) इनमें से कोई नहीॊ 

 

79. ननम्न में से ककसे वसऱूी खणिे में हतिणनिररि नहीॊ ककयण जणिण है ? 

(a) रोकड़ खणिे के शषे को 

(b) सॊचयों के शषे को 

(c) ऱणभ-हणनन खणिे के शषे को 
(d) इनमें से सभी को 

 

80. पनुमूिलयणॊकन खणिे के नणम पऺ पर जमण पऺ कण आर्िक्य है 

(a) ऱणभ 

(b) हणनन 

(c) प्रणस्ति 

(d) व्यय 

 

81. आर्दशि चणऱ ूअनपुणि है 

(a) 1:1 

(b) 1:3 
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(c) 5:2 

(d) 2:1 

 

 

82. िरऱ सम्पवत्तयों में शणममऱ होिण है 

(a) रे्दनर्दणर  

(b) प्रणतय ववपत्र 

(c) बैंक शषे 

(d) इनमें से सभी  

 

83. यहर्द चणऱ ूअनपुणि 2:5 और चणऱ ूर्दणनयत्व 25,000 रु० हो, िो चणऱ ूसम्पवत्तयणॉ है   

(a) 62,500 रु. 

(b) 12,500 रु. 

(c) 10,000 रु. 
(d) 20,000 रु. 

 

84. ननम्नमऱखखि में से कौन-सी िरऱ सम्पवत्त है ? 

(a) भमूम 

(b) रहनियण 

(c) भवन 

(d) रे्दनर्दणर 

 

85. रोकड़ प्रवणह वववरर् सॊबॊर्िि है 

(a) ऱेखणॊकन मणन-3 से 

(b) ऱेखणॊकन मणन-6 से 
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(c) ऱेखणॊकन मणनक-9 से 

(d) ऱेखणॊकन मणनक- 12 से 

 

86. रोकड़ प्रवणह वववरर् आिणररि है 

(a) ऱेखणॊकन के रोकड़ आिणर पर  

(b) ऱेखणॊकन के उपणजिन आिणर पर 

(c) (a) और (b) र्दोनों के आिणर पर 

(d) इनमें से ककसी के आिणर पर नहीॊ 

 

87. नकर्द बबक्री है 

(a) पररचणऱन कक्रयणएॉ 

(b) ववननयोजन कक्रयणएॉ 

(c) ववत्तीय कक्रयणएॉ 

(d) इनमें से कोई नहीॊ 
 

88. ननम्न में से कौन-सण रोकड़ कण उपयोग नहीॊ है ? 

(a) रे्दनर्दणरों में वदृ्र्ि 

(b) तटॉक में वदृ्र्ि 

(c) ऱेनर्दणरों में वदृ्र्ि 

(d) पवूिर्दत्त व्ययों में वदृ्र्ि 

 

89. ननम्न में से कौन-सण रोकड़ कण स्रोि नहीॊ है ? 

(a) ऋर्पत्रों कण ननगिमन  

(b) तथणयी सम्पवत्त कण क्रय 

(c) तथणयी सम्पवत्त कण ववक्रय 
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(d) सॊचणऱन से कोष 

 

 

90. ननम्न में से कौन-सण गैर-सॊचणऱन व्यय है ? 

(a) ककरणयण  

(b) बबक्री व्यय 

(c) मजर्दरूी  

(d) मशीनरी ववक्रय पर हणनन 

 

91. यहर्द नयण सणझरे्दणर अपने हहतसे की ख्यणनि की रणमश रोकड़ में ऱेिण है िो उस रणमश 
को डबेबट करेंगे 

(a) ख्यणनि खणिे में 

(b) नये सणझरे्दणर के पूॉजी खणिे में 

(c) रोकड़ खणिे में 
(d) परुणने सणझरे्दणरों के पूॉजी खणिे में 

 

92. नये सणझरे्दणर के प्रवेश के बणर्द िैयणर ककये गये आर्थिक र्च्ठे में सम्पवत्तयों और 
र्दणनयत्वों को अमभमऱखखि करिे हैं 

(a) मौमऱक मलूय पर 

(b) चणऱ ूऱणगि मलूय पर 

(c) वसऱूी योग्य मलूय पर 

(d) पनुमूिलयणॊककि मलूय पर 

 

93. सभी सणझरे्दणरों के सॊयकु्ि जीवन पर ऱी गई बीमण पॉमऱसी है 

(a) सॊयकु्ि जीवन पॉमऱसी  
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(b) एक मणत्र जीवन पॉमऱसी 

(c) फमि की जीवन पॉमऱसी 

(d) इनमें से कोई नहीॊ 

94. A, B और 𝐶 
1

2
,

1

3
 और के 1

6
 अनपुणि में ऱणभों कण ववभजन करिे हैं। C की मतृ्य ुहो 

जणिी है। A और B कण नयण अनपुणि होगण 

(a) 3:2 

(b) 2:3 

(c) 2:1 

(d) इनमें से कोई नहीॊ 

 

95. ननम्न में से ककसे वसऱूी खणिे में हतिणॊिररि ककयण जणिण है ? 

(a) रोकड़ खणिे के शषे को 

(b) ऱणभ-हणनन खणिे के शषे को 

(c) सम्पवत्तयों के ववक्रय से प्रणति रणमश को 

(d) सॊचयों को 

 

96. ववघटन व्ययों को वसऱूी खणिे के ककस पऺ में मऱखण जणिण है ? 

(a) डबेबट पऺ 

(b) के्रडडट पऺ 

(c) र्दणनयत्व पऺ 

(d) इनमें से सभी 

 

97. फमि के समणपन की र्दशण में सम्पवत्तयों के ववक्रय से प्रणति रणमश से सविप्रथम 
भगुिणन कक जणयेगण 
(a) सणझरे्दणरों की पूॉजी कण 
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(b) सणझरे्दणरों द्वणरण फमि को हर्दये ऋर् कण  

(c) सणझरे्दणर की अनिररक्ि पूॉजी कण 

(d) बणहरी ऱेनर्दणरों कण 

 

98. एक कम्पनी ननगिममि कर सकिी है 

(a) समिण अॊश  

(b) पवूणिर्िकणर अॊश 

(c) समिण िथण पवूणिर्िकणर र्दोनों अॊश 

(d) इनमें से कोई नहीॊ 

 

99. सममलूय से अर्िक प्रणति रणमश को ककस खणिे में के्रडडट ककयण जणिण है ? 

(a) अॊश पूॉजी खणिण 

(b) यणचनण पर अर्ग्रम खणिण 

(c) प्रनिभनूि प्रीममयम सॊचय खणिण 
(d) अॊश जब्िी खणिण 

 

100. अर्दत्त यणचनण पर अर्िकिम ब्यणज मऱयण जण सकिण है 

(a) 6% p.a 

(b) 10% p.a 

(c) 5% p.a 

(d) 12% p.a 

SECTION B 

प्रश्न सॊख्यण 1 से 30 ऱघ ुउत्तरीय हैं। ककनहीॊ 15 प्रश्नों के उत्तर र्दें। प्रत्येक मऱए 2 अॊक 
ननिणिररि है। 
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1. ख्यणनि की कोई र्दो ववशषेिणएॉ मऱखखए। 

2. ऱणभ प्रणस्ति अनपुणि से आपकण क्यण आशय है ? 

3. पनुमूिलयणॊकन खणिण क्यण है ? 

4. त्यणग अनपुणि और ऱणभ प्रणस्ति अनपुणि में कोई र्दो अनिर मऱखखए। 

5. A, B िथण C ऱणभों को  
1

2
:

1

3
:

1

6 
 के अनपुणि में बणॉटिे हैं। B अवकणश ग्रहर् करिण है 

और उसकण हहतसण A िथण C द्वणरण 5:3 के अनपुणि में ग्रहर् ककयण जणिण है। नयण 
अनपुणि कीस्जए। 

6. ककन-ककन र्दशणओॊ में फमि कण समणपन ककयण जण सकिण है ? 

7. अॊश कण हरर् क्यण है ? 

8. अॊशों कण पनु:ननगिमन क्यण है ? 

9. अॊशों के प्रकणर बिणइए । 

10. चनर्दण क्यण है ? 

11. प्रणस्ति एवॊ भगुिणन खणिे की र्दो प्रमखु ववशषेिणएॉ बिणइए। 

12. सणझरे्दणरी की चणर ववशषेिणएॉ बिणइए। 

13. ववत्तीय वववरर्ों के ववश्ऱेषर् से क्यण आशय है ? 

14. िुऱनणत्मक ववत्तीय वववरर्ों से क्यण अमभप्रणय है ? 

15. सणमणनय आकणर के वववरर्ों के कोई र्दो उद्रे्दश्य र्दीस्जए। 

16. ऋर्पत्र की कोई र्दो ववशषेिणएॉ र्दीस्जए। 

17. शोध्य ऋर्पत्र से क्यण अमभप्रणय है ? 

18. सेबी द्वणरण कौन-सी कम्पननयों को 'ऋर्पत्र शोिन सॊचय' के ननमणिर् से छूट र्दी गई 
है। 

19. चणऱ ूसम्पवत्त से क्यण आशय है ? 

20. पवूणिर्िकणर अॊश क्यण है? इसके र्दो प्रकणर बिणयें। 

21. एक नये सणझरे्दणर के प्रवेश के र्दो ऱणभ बिणइए। 
22. अनपुणि ववश्ऱेषर् के ककनहीॊ र्दो उद्रे्दश्यों को बिणइए। 
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23. सॊचणऱन सॊबॊिी कक्रयणओॊ से रोकड़ प्रवणह के र्दो उर्दणहरर् र्दें। 

24. रोकड़ प्रवणह वववरर् के अॊिगिि कर िथण ऱणभणॊश भगुिणन कण ऱेखण कैसे ककयण 
जणिण है? 

25. A, B िथण C क्रमश: 2:2:1 में ऱणभ बणॉटिे हुए सणझरे्दणर हैं। उनहोंने D को 1/6 
भणग के मऱए फमि में प्रवेश हर्दयण। त्यणग अनपुणि ऻणि कीस्जए। 

26. समवपिि मलूय क्यण है ? 

27. सणझरे्दणर के अवकणश ग्रहर् कण क्यण आशय है ? 

28. वसऱूी खणिण क्यण है ? 

29. कम्पनी को चणर ववशषेिणएॉ बिणइए। 

30. ननगिममि पूॉजी कण क्यण आशय है ? 

 

प्रश्न सॊख्यण 31 से 38 र्दीघि उत्तरीय प्रश्न हैं। इनमें से ककनहीॊ 4 प्रश्नों के उत्तर र्दें। 
प्रत्येक के मऱए 5 अॊक ननिणिररि हैं। https://www.bsebstudy.com 

 
31. X और Y सणझरे्दणर हैं जो ऱणभ-हणनन को 2:1 के अनपुणि में बणॉटिे हैं। उनहोंने Z को 
ऱणभों में हहतसे के मऱए सणझरे्दणर बनणयण। Z अपनण हहतसण X और Y से समणन अनपुणि 
में प्रणति करिण है। Z, 1,65,000 रु० पूॉजी के रूप में और 30,000 रु० ख्यणनि के रूप 
में नकर्द ऱणिण है आवश्यक प्रववस्ष्टयणॉ कीस्जए और नये ऱणभ-हणनन अनपुणि ऻणि 
कीस्जए। 

32. प्रणस्ति एवॊ भगुिणन खणिण िथण आय-व्यय खणिण में अनिर बिणइए। 

33. रणम मऱममटेड कण पॊजीयन 2,00,000 रु० की पूॉजी के सणथ हुआ जो की प्रत्येक 10 
रू वणऱे 20,000 समिण अॊशों में ववभणस्जि है। इसने जनिण को समति अॊश सम मलूय 
पर ननगिममि ककये स्जन पर प्रनि अॊश 2 रु० आवेर्दन पर 3 रु० आवॊटन पर, 3 रु० 
प्रथम यणचनण पर िथण 2 रु० अॊनिम यणचनण पर रे्दय थे। सभी अॊशों को जनिण द्वणरण 
क्रय कर मऱयण गयण और यथणसमय भगुिणन प्रणति हो गये। जनिऱ के आवश्यक ऱेखे 
कीस्जए। 

34. ऋर्-पत्रों के ववमभनन प्रकणरों कण वर्िन कीस्जए। 
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35. रणम ूमऱममटेड के चणऱ ूअनपुणि 3:1 है। यहर्द इसकण रहनियण 30,000 रु० और कुऱ 
चणऱ ूर्दणनयत्व 60,000 रु. है िो त्वररि अनपुणि ऻणि कीस्जए। 

36. रोकड़ प्रवणह वववरर् के महत्व कण वर्िन कीस्जए। 

37. ननम्न पररस्तथनियों में आप रस्श्म और बबनर्द ुके फमि में वसऱूी व्ययों को ककस 
प्रकणर ऱेखण करेंगे ? 

(i) वसऱूी व्यय की रणमश 1,00,000 रु० 

(ii) वसऱूी व्यय की रणमश 30,000 रु. कण भगुिणन रस्श्म ने ककयण 

(iii) रस्श्म ने वसऱूी व्यय कण वहन ककयण है स्जसके मऱए उसे पणररिोवषक 70,000 रु० 
हर्दयण जणएगण। रस्श्म द्वणरण वणतिववक व्यय 1,20,000 रु० ककयण गयण थण। 

38. मोहन मऱ. की चणऱ ूपररसम्पवत्तयों एवॊ चणऱ ूरे्दविणओॊ की स्तथनि ननम्नमऱखखि है: 

 
वषि के र्दौरणन कम्पनी की 50,000 रु० की हणनन हुई। सॊचणऱन कक्रयणओॊ से रोकड़ प्रवणह 
की गर्नण कीस्जए। 
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2021 

इंटरमीडिएट परीक्षा - 2021 
(ANNUAL / वार्षिक)  

ACCOUNTANCY  
Time: 3 Hours 15 Minutes             [Full Marks: 100 

Instructions for the candidates: 

1. Candidate must enter his/her Question Booklet Serial No. (10 Digits) in the OMR 

Answer Sheet. 

2. Candidates are required to give their answers in their own words as far as practicable. 

3. Figures in the right hand margin indicate full marks.  

4. 15 minutes of extra time have been allotted for the candidates to read the questions 

carefully. 

5. This question booklet is divided into two sections-Section-A and Section B.  

6. In Section-A, there are 100 objective type questions, out of which any 50 questions are 

to be answered. First 50 answers will be evaluated in case more than 50 questions are 

answered. Each question carries 1 mark. Darken the circle with blue / black ball pen 

against the correct option on OMR Answer Sheet provided to you. Do not use whitener / 

liquid/blade / nail etc. on OMR Answer Sheet, otherwise the result will be invalid. 

7. In Section-B, there are 30 short answer type questions. Each question carrying 2 

marks, out of which any 15 questions are to be answered. Apart from this, there are 8 

long answer type questions, each question carries 5 marks, out of which any 4 questions 

are to be answered.  

8. Use of any electronic appliances is strictly prohibited. 

 

SECTION-A (OBJECTIVE TYPE QUESTIONS) 

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any 

50 questions. You have to mark your selected correct option on the OMR-Sheet.   
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1. Life membership fees of non-trading concerns is 

(a) Capital Receipts  

(b) Revenue Receipts 

(c) Both (a) and (b) 

(d) None of these 

 

2. For a non-trading concern, honorarium is 

(a) Income  

(b) Asset  

(c) Expenses  

(d) None of these 

 

3. Entrance fees, unless otherwise stated, is treated as 

(a) Capital Receipt 

(b) Revenue Receipt 

(c) Liability  

(d) None of these 

 

4. Excess of Income over expenditure is known as 

(a) Surplus 

(b) Deficit 

(c) both (a) and (b) 

(d) None of these 

 

5. When a partner is entitled to interest on capital contributed by him such interest will 

be payable 

(a) Out of Profit  

(b) Out of Capital 

(c) Both (a) and (b) 

(d) None of these 
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6.  In the absence of a partnership deed partner shall  

(a) be paid salaries  

(b) not be paid salaries 

(c) be paid salaries to those who work for the firm 

(d) none of these  

 

7. Which of the following items are recorded in the Profit and Loss Appropriation 

Account of a partnership firm? 

(a) Interest on capital.  

(b) Salary to partner 

(c) Transfer to reserve 

(d) All of these 

 

8. Which accounts are opened when the capitals are fixed? 

(a) Only capital accounts 

(b) Only current accounts 

(c) Capital Accounts and Current Accounts both 

(d) None of these 

 

 

9. Not-for Profit organisations prepare 

(a) Trading Account  

(b) Trading & Profit and Loss Account 

(c) Income and Expenditure Account  

(d) Revenue Account 

 

10. Out of following items, which one is shown in the receipts and payments account? 

(a) Outsanding salary 

(b) Depreciation 

(c) Life membership fees 

(d) Accrued subscription 
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11. Receipts and Payments Account is a 

(a) Personal Account 

(b) Real Account 

(c) Nominal Account 

(d) None of these 

 

12. Income and Expenditure Account is a  

(a) Personal Account 

(b) Real Account 

(c) Nominal Account 

(d) None of these 

 

13. Legacy should be treated as 

(a) Liability  

(b) Revenue Receipt  

(c) Capital Receipt 

(d) None of these 

 

14. The relation of partner with the firm is that of 

(a) An owner 

(b) An Agent. 

(c) An owner and an Agent  

(d) A Manager 

 

15. What should be the minimum number of persons to form a partnership" 

(a) 2  

(b)  7 

(c) -10 

(d) 20 
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16. For the firm interest on drawings is 

(a) Expenses 

(b) Loss 

(c) Receipt 

(d) Income 

 

17. In which year, was the Partnership Act passed? 

(a) In 1932  

(b) In 1956 

(c) In 1947 

(d) In 1952 

 

18. Goodwill is a 

(a) Fictitious Asset  

(b) Current Asset 

(c) Intangible Asset 

(d) Tangible Asset 

 

19. A and B are partners sharing profit in the ratio of 3:1. They admit C as a partner by 

giving him 
1

4
 share. The new ratio will be 

(a) 10:2:4  

(b) 8:4:4  

(c) 9:3:4 

(d) 8:9: 10 

 

20. On the admission of a new partner  

(a) Old firm is dissolved 

(b) Old partnership is reconstituted 

(c) Both old partnership and firm are dissolved  

(d) Neither partnership nor firm is dissolved 
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21. Liquid ratio is calculated by dividing which to liquid assets ? 

(a) Fixed liabilities  

(b) Current liabilities 

(c) Total liabilities 

(d) Contingent liabilities 

 

22. Working capital is the 

(a) Cash and Bank Balance  

(b) Capital borrowed from the banks 

(c) Difference between Current Assets and Current Liabilities 

(d) Difference between Current Assets and Fixed Assets 

 

23. Patents and copyrights fall under what category? 

(a) Current Assets 

(b) Liquid Assets 

(c) Intangible Assets 

(d) None of these 

 

24. Which of the following is not a non-cash item? 

(a) Cash sales  

(b) Goodwill written off  

(c) Depreciation 

(d) Provision for bad debts 

 

25. While calculating cash flow from operating activities which will be deducted? 

(a) Decrease in Prepaid Expenses 

(b) Increase in creditors 

(c) Increase in debtors  

(d) Decrease in debtors 
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26. While calculating cash flow from operating activities which will be added? 

(a) Increase in stock  

(b) Increase in creditiors 

(c) Decrease in Bills Payable 

(d) Increase in debtors 

 

27. Issue of Debentures in cash is 

(a) Operating Activities  

(b) Financing Activities  

(c) Investing Activities 

(d) None of these 

 

28. An example of cash flows from financing activities is 

(a) Sale of goods on credit  

(b) Cash receipts from issue of shares. 

(c) Sale of Investments 

(d) Interest received 

 

29. Liquid asset includes 

(a) Only cash 

(b) Only Cash and Debtors 

(c) Cash, Debtors and Marketable securities 

(d) None of these 

 

30. Which of the following is liquid asset? 

(a) Debtors  

(b) Stock  

(c) Goodwill  

(d) Machine 
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31. Share of goodwill brought in cash by the new partner is called 

(a) Asset 

(b) Profit  

(c) Premium 

(d) None of these 

 

32. Revaluation Account is a 

(a) Real Account 

(b) Personal Account 

(c) Nominal account 

(d) Asset Account  

 

33. Decrease in the value of fixed assets is known as 

(a) Expenses 

(b) Loss 

(c) Profit 

(d) None of these 

 

34. Profit or Loss on revaluation at the time of admission of a partner is borne by  

(a) Old Partners  

(b) New Partners  

(c) All Partners 

(d) All of these 

 

35. A and B are partners. They admit C for 
1

3
rd share. In future the ratio between A and B 

would be 2: 1. Sacrificing ratio will be  

(a) 2:1 

(b) 1:1 

(c) 5:1 

(d) 1:5 
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36. The sacrifice of old partners is equal to 

(a) New Ratio - Old Ratio 

(b) Old Ratio - New Ratio 

(c) Their New Ratio 

(d) Their Old Ratio 

 

37.Gaining Ratio means 

(a) Old - New Ratio 

(b) New Ratio - Old Ratio 

(c) Old Ratio-Sacrificing Ratio 

(d) New Ratio - Sacrificing Ratio 

 

38. Goodwill is paid out to the retiring partner in 

(a) Old Profit sharing ratio  

(b) Capital Ratio  

(c) Equal Ratio 

(d) New Ratio  

 

39. A, B and C are partners sharing profits in the ratio of  
1

4
∶  

3

10
∶  

9

20
 The new ratio on 

the retirement of C will be 

(a) 6:5 

(b) 5:6 

(c) 4:3 

(d) 4: 10 

 

40. Gaining ratio is calculated  

(a) at the time of admission 

(b) at the time of retirement 

(c) on the dissolution 

(d) none of these 
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41. Amount of calls in advance is 

(a) added to share capital 

(b) deducted from share capital 

(c) shown on the Assets side  

(d) shown on the Capital & Liabilities side 

 

42. Share Forfeiture Account is shown in the Balance Sheet with  

(a) Non-current liabilities 

(b) Current liabilities 

(c) General Reserve 

(d) Reserve Capital 

 

 43. Debentures represent the 

(a) Long term loan of a company  

(b) Investment of equity sharesholders 

(c) Directors' shares in a company  

(d) Short term loan of a company  

 

44. Zero coupon bonds are issued  

(a) At zero interest rate  

(b) On pre-specified rate of interest 

(c) Without pre-specified rate of interest 

(d) None of these 

 

45. Profit on cancellation of own debentures is 

(a) Revenue profit 

(b) Capital profit 

(c) Operating profit 

(d) Trading profit 
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46. For whom the analysis of financial statements is not significant? 

(a) Investor 

(b) Government 

(c) Ambassador of India 

(d) Company's Employee 

 

47. Fixed Assets of a company are increased from Rs. 3,00,000 to Rs. 4,00,000. What is 

the percentage of change? 

(a) 25% 

(b) 33.3% 

(c) 20% 

(d) 40% 

 

48. Payment of Income tax is considered as 

(a) Direct expenses 

(b) Indirect expenses  

(d) None of these 

(c) Operating expenses 

 

49. In a common size balance sheet, Total equity and Liabilities are assumed to be equal 

to 

(a) 1 

(b) 10 

(c) 100 

(d) 1000 

 

50. If cost of goods sold is Rs. 1,20,000 and gross profit ratio is 20% then amount of 

sales will be  

(a) Rs. 50,000 

(b) Rs. 1,50,000  

(c) Rs. 1,00,000 

(d) Rs. 2,00,000 
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51. Debenture holders are  

(a) Owners of the company  

(b) Customers of the company 

(c) Creditors of the company 

(d) Promoters of the company 

 

52. Debenture holder receives 

(a) Dividend 

(b) Interest 

(c) Both Dividend and Interest  

(d) Profit 

 

53. Premium on Redemption of Debentures Account is 

(a) Asset 

(b) Liability 

(c) Expenses 

(d) Income 

 

54. Debenture Application Account is in the nature of 

(a) Real Account 

(b) Personal Account 

(c) Nominal Account 

(d) None of these 

 

55. An annual report is issued by a company to its 

(a) Directors 

(b) Authors  

(c) Shareholders  

(d) Management 
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56. Balance sheet is a/an  

(a) Statement 

(b) Account 

(c) Both (a) and (b) 

(d) None of these 

 

57. Interpretation of Financial Statements includes 

(a) Criticism and Analysis 

(b) Comparison and Trend study 

(c) Drawing conclusion 

(d) All of these 

 

58. Sales less cost of goods sold is called 

(a) Net profit 

(b) Operating profit 

(c) Gross profit 

(d) Total profit 

 

59. In a common size income statement, the amount of net sales is assumed to be equal 

to 

(a) 1 

(c) 100 

(c) 100 

(d) 1000 

 

60. Liquid Assets do not include  

(a) Bills Receivable  

(b) Debtors 

(c) Stock 

(d) Bank Balance 
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61. A Joint Stock Company is  

(a) An artificial legal person 

(b) A natural person 

(c) A general person 

(d) None of these 

 

62. Equity shareholders are 

(a) Customers of the company  

(b) Owners of the company 

(c) Creditors of the company  

(d) Banker 

 

63. The liability of members in a company is  

(a) Limited. 

(b) Unlimited  

(c) Stable  

(d) Fluctuating. 

 

64. Maximum number of members in a private company is 

(a) 7  

(b) 200 

(c) 50 

(d) No limit 

 

65. Shareholders receive from the company 

(a) Interest 

(b) Commission  

(c) Profit  

(d) Dividend 
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66. Share Application Account is the nature of 

(a) Real Account 

(b) Personal Account  

(d) None of these 

(c) Nominal Account 

 

67. On issue of shares premium is 

(a) Profit 

(b) Income 

(c) Revenue Receipt 

(d) Capital Gain  

 

68. The actual amount of share capital is  

(a) Authorised capital 

(b) Paid-up capital 

(c) Subscribed capital 

(d) Issued capital 

 

69. Forfeiture of shares results in the reduction of 

(a) Paid-up capital 

(b) Authorised capital 

(c) Reserve capital 

(d) Fixed capital 

 

70. Debenture is 

(a) Certificate of loan  

(b) Certificate of cash 

(c) Certificate of credit 

(d) Certificate of capital 
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71. The amount due to the deceased partner is paid to his 

(a) Father 

(b) Friend 

(c) Wife  

(d) Executors 

 

72 . Revaluation Account is prepared at the time of 

(a) Admission 

(b) Retirement 

(c) Death 

(d) All of these 

 

73. Realisation Account is a 

(a) Nominal Account 

(b) Real Account 

(c) Personal Account  

(d) None of these 

 

74. Expenses on dissolution of firm is called 

(a) Realisation expenses 

(b) Legal expenses  

(c) Capital expenses 

(d) None of these 

 

75. On dissolution of a firm, credit balance of partner's capital account is paid to 

(a) Partners 

(b) Firm 

(c) Wife 

(d) None of these 
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76. Legal expenses are recorded on which side of Realisation Account?  

(a) Liabilities  

(b) Debit 

(c) Assets  

(d) Credit  

 

77. At the time of dissolution of firm book value of assets is recorded in which side of 

the Realisation Account? 

(a) Debit side  

(b) Credit side 

(c) Liabilities side 

(d) Assets side 

 

78. Insolvency of a partner is which type of dissolution? 

(a) Compulsory dissolution  

(b) Dissolution by incidence 

(c) Dissolution by court 

(d) None of these 

 

79. Which of the following is not transferred to Realisation A/c ? 

(a) Balance of Cash Account 

(b) Balalnce of Reserves 

(c) Balance of Profit and Loss Account 

(d) All of these 

 

80. Excess of the credit side over the debit side of Revaluation Account is 

(a) Profit  

(b) Loss 

(c) Receipt 

(d) Expenses 
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81. Ideal current ratio is 

(a) 1:1 

(b) 1:2 

(c) 5:2 

(d) 2:1 

  

82. Liquid assets include  

(a) Debtors 

(b) Bills receivable. 

(c) Bank balance 

(d) All of these 

 

83. If current ratio is 2: 5 and current liabilities are Rs. 25,000 then current assets are  

(a) Rs. 62,500 

(b) Rs. 12,500  

(c) Rs. 10,000 

(d) Rs. 20,000 

 

84. Which of the following is liquid Asset?  

(a) Land 

(b) Stock  

(c) Building 

(d) Debtors 

 

85. Cash flow statement is related to 

(a) Accounting standard-3 

(b) Accounting standard-6  

(c) Accounting standard-9 

(d) Accounting standard-12 
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86. Cash flow statement is based upon 

(a) Cash basis of accounting  

(b) Accrual basis of accounting 

(c) Both (a) and (b)  

(d) None of these 

 

87. Cash sales is 

(a) Operating activities. 

(b) Investing activities 

(c) Financing activities. 

(d) None of theses 

 

88. Which of the following is not application of cash?  

(a) Increase in Debtors 

(b) Increase in Stock 

(c) Increase in Creditors. 

(d) Increase in Prepaid expenses 

 

89. Which of the following is not source of cash? 

(a) Issue of Debentures 

(b) Purchase of Fixed Asset 

(c) Sale of Fixed Asset 

(d) Funds from operations 

 

90. Which of the following is non-operating expense? 

(a) Rent  

(b) Selling Expense 

(c) Wages 

(d) Loss on sale of machinery  
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91. When a new partner bring his share of goodwill in cash, the amount is debited to 

(a) Goodwill A/c  

(b) Capital A/c of the new partner 

(c) Cash A/c 

(d) Capital A/cs of the old partners  

 

92. In the Balance sheet prepared after admission of a new partner, assets and liabilitics 

are recorded at 

(a) Original price 

(b) Current cost price 

(c) Realisable price  

(d) Revalued price 

 

93. A life insurance policy taken on joint lives of all partners is 

(a) Joint life policy  

(b) Single life policy 

(c) Firm's life policy 

(d) None of these 

 

94. A, B and C share profits in the ratio of 
1

2
 
1

3
 and  

1

6
 C dies. New ratio of A and B will 

be 

(a) 3:2 

(b) 2:3 

(c) 2:1 

(d) None of these 

 

95. Which of the following is transferred to Realisation Account? 

(a) Balance of Cash Account  

(b) Balance of Profit & Loss Account 

(c) Amount realised on sale of assets 

(d) Reserves 
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96. Dissolution expenses are recorded in which side of Realisation Account? 

(a) Debit side 

(b) Credit side 

(c) Liability side 

(d) All of these  

 

97. On dissolution of a firm, out of the proceeds received from the sale of assets will be 

paid first of all to 

(a) Partners' capital 

(b) Partners' loan to firm 

(c) Partners' additional capital 

(d) Outside creditors 

 

98. A company may issue 

(a) Equity shares 

(b) Preference shares 

(c) Equity and Preference both shares 

(d) None of theses 

 

99. The amount received over and above the par value is cedited to account? 

(a) Share Capital Account 

(b) Calls in Advance Account 

(c) Securities Premium Reserve Account  

(d) Share Forfeiture Account  

 

100. Interest on calls in arrears can be charged maximum at 

(a) 6% p.a  

(b) 10% p.a 

(c) 5% p.a  

(d) 12% p.a 
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SECTION-B (NON-OBJECTIVE TYPE QUESTIONS) 

 

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each questions 

carries 2 marks. 

1. Give any two features of goodwill. ? 

2. What do you mean by Gaining Ratio? 

3. What is Revaluation Account?  

4. Give any two points of distinction between sacrificing ratio and gaining ratio. 

5. A, B and C share profits in the ratio of 
1

2
∶  

1

3
∶  

1

6
 B retires and his share is taken by A 

and C in the ratio of 5: 3 Calculate new ratio.  

6. In what circumstances can a firm be dissolved? 

7. What is forfeiture of share?  

8. What is re-issue of shares ?  

9. Name the types of shares. 

10. What is subscription? 

11. Give two essential features of Receipts and Payment Account.  

12. State four features of Partnership. 

13. What is meant by Analysis of Financial Statements? 

14. What is meant by Comparative Financial Statements? 

15. Give any two objectives of common size statements. 

16. Give any two characteristics of debenture. 

17. What is meant by Redeemable Debenture? 

18. Which companies are exempted from creating 'Debenture Redemption Reserve' by 

the SEBI ?  

19. What is meant by current asset ? 

20. What is preference share? State its two types.  

21. Give two merits of admission of a new partner. 

22. Give any two objectives of ratio analysis. 

23. Give two examples of cash flow form operating activity. 

24. How tax and dividend payment are treated under Cash Flow Statement?  
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25. A, B and C are partners sharing profits in the ratio of 2:2:1 respectively. They admit 

D for 
1

6
th share in the firm. Calculate the sacrificing ratio. 

26. What is surrender value? 

27. What do you mean by retirement of partner? 

28. What is Realisation Account ? 

29. Give four characteristics of a company.  

30. What is issued capital? 

 

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions. Each question 

carries 5 marks. 

31. X and Y are partners sharing profit and losses in the ratio of 2: 1. They admit Z into 

partnership with 
1

4
th share in profits which he acquires equally  form X and Y. Z bring in 

Rs. 1,65,000 as capital and Rs. 30,000 as goodwill in cash. Pass necessary entries and 

calculate new profit sharing ratio.  

32. Distinguish between Receipts and Payments Account and Income and Expenditure 

Account. 

33. Ram Ltd. was registered with a capital of Rs. 2,00,000 divided into 20000 equity 

shares of Rs. 10 each. It offered to the public all the shares at par payable as Rs. 2 per 

share on application, Rs. 3 on allotment, Rs. 3 on 1st call and Rs. 2 on final call. All 

shares were subscribed by the public and payments were duly received. Pass necessary 

Journal entries. https://www.bsebstudy.com 

34. Describe various kinds of debentures. 

35. Ramu Ltd. has a current ratio of 3: 1. If its inventory is Rs. 30,000 and total current 

liabilities are Rs. 60,000, find out its Quick Ratio. 

36. Describe the importance of Cash Flow Statement.  

37. How will you record the realisation expenses of the firm of Rashmi and Bindu in the 

following cases? 

(i) Realisation Expenses Rs. 1,00,000 

(ii) Realisation Expenses of Rs. 30,000 paid by Rashmi 

(iii) Rashmi bears Realisation expensses for which she will be paid Rs. 70,000. The 

actual expenses incurred by Rashmi were Rs. 1,20,000. 

 

38. The following are the position of current assets and current liabilities of Mohan Ltd. : 
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Particulars 2017(Rs.) 2018(Rs.) 

Debtors 20,000 15,000 

Creditors 10,000 8,000 

Bills Receivable 6,000 8,000 

Prepaid Expenses 8,000 7,000 

 

The company incurred a loss of Rs. 50,000 during the year. Calculate cash flow from 

operating activities. 

 


